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[RF A KE B M RAE (STHRVD)
BERKEANKAR (RFHID
BEREHKEEDRIIRERE

ERREEAERE(Sv/h)
X BE | - - R EEE
No. | THt =2 SHBEH PE | mems i 7 (P2 ABBOF ) %
! F17@ [ @ 7@ [ @ F17m
RERER | AERR | FEHR | AEER | AERR | ATHR
50cm 0.07 0.07 0.08 0.08 0.08 0.08
[ RBEO IO ARE-ERES ] FLIRE
1m 0.07 0.06 0.08 0.09 0.07 0.08
1050 | #azear CELE ARz HE g8 —rkQ ————————— -
50cm 0.06 0.06 0.07 0.06
[ RREO L RRE-EES ] YR
1m 0.06 0.06 0.07 0.06
50cm 0.07 0.07 0.07 0.08 0.06 0.07
1051 | =iEXEHT CELE RECELEEEFS 9A 108
1m 0.06 0.07 0.07 0.09 0.06 0.06
50cm 0.07 0.06 0.06 0.06 0.07 0.08
1052 | =iEXEHRT CELE FERCELE 9A 108
1m 0.07 0.06 0.06 0.06 0.07 0.07
50cm 0.08 0.09 0.08 0.07 0.07 0.07
1053 | =iEXEHRT CELE RECECEUVMY 9HA9H
1m 0.08 0.09 0.08 0.07 0.07 0.07
50cm 0.07 0.06 0.08 0.10 0.06 0.06
1054 | =iEXEHR INEAR RIFXBERABFEATHARE 9A108 F17EEREFELH RIFEBEAT IR/ NER
im 0.07 0.06 0.08 0.09 0.06 0.06
50cm 0.08 0.07 0.07 0.07 0.09 0.09
1055 | =iEXEHR INEAR RIEXRERILE ) IVNER 9A108
1m 0.07 0.06 0.06 0.07 0.09 0.10
50cm 0.06 0.06 0.08 0.08 0.07 0.06
1056 | =iFEXEH INEAR RIFXERIIEB/NFER 9A108
1m 0.07 0.06 0.07 0.08 0.06 0.07
50cm 0.07 0.09 0.07 0.07 0.06 0.07
1057 | &iEXEHR INEAR RIEX BRI/ FR 9A9H
im 0.07 0.07 0.07 0.07 0.06 0.07
50cm 0.06 0.06 0.08 0.07 0.06 0.07
1058 | =iEXEH R RIEFXBERABFERARE 9A108 F17EEH RIFEXBRIIABPER
im 0.06 0.06 0.08 0.08 0.06 0.07
50cm 0.06 0.06 0.10 0.10 0.08 0.08
1059 | &iFEXEH R R BRI E B PER 9A108
im 0.06 0.06 0.10 0.09 0.08 0.08
50cm 0.07 0.07 0.08 0.06 0.07 0.07
1060 | =iEXEH R RIFXBER PR 9A9E
im 0.06 0.07 0.08 0.07 0.07 0.07
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RF A KE B3 AR (EHRVE)
BERKEANKAR (RFHID
BER f‘#ﬁl%""ﬁ"‘ﬂﬁ&%ﬂiﬁ**ﬁé

R ERBIEE(L Sv/h)
_ A ERE
" HE . o na = xu *XFE .
No. | THETH R4 SRELT BE | mems M ik (hsk- A0 Ti91E) e
sm | zm | 48 | zim | sm | ®im
BERE | BEsE | Bare | Haee | BeeE | Bass
50cm 0.07 0.07 0.08 0.08 0.07 0.08| g1 mammEn
1m 0.08 0.08 0.08 0.08 0.07 0.0g|l HE-EES] B175TK
50cm 0.07 0.08
R ERES ] $25590kK
1m 0.07 0.07
1061| smzmar BEeR SREEES ogtg o L= - - |\~ | 7 _
50cm 0.08 0.08 0.07 0.08| g1 mpsmn
1m 0.08 0.08 0.07 0.0g|l HE-BES] F=23—F
50cm 0.08 0.09
g ERES ] A
1m 0.07 0.09
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